Put the following equation in vertex form.
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Give the vertex. Tell whether the vertex is a maximum or(mmimu@ value. Give the

y-intercept. y (3 - . )v ( 0, )



What are the x-intercepts of the function.
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Put each equation in vertex form and give the vertex
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Solve each quadratic by completing the square.

irrational, or complex.
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Identify each solution as rational,
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Solve each quadratic by using the quadratic formula. Leave your answer in radical

form. Identify each solution as rational, irrational, or complex.
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Solve the quadratic equation. When applicable, write your answer in radical form.
Solve by each method (complete the square, quadratic formula) at least once. |dentify

each solution as rational, irrational, or complex.
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Preform the indicated operation. Mgke sure vour answer is in standard form é?\k\o&
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Graph the followina eauation.
y=(x+5?%-1




Write the equation for the given curve
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Write the equation for the given curve







